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https://data.seoul.go.kr/dataList/datasetList.do
https://www.data.go.kr/tcs/dss/selectDataSetList.do?keyword=
http://taas.koroad.or.kr/web/shp/sbm/initGisAnals.do?menuId=WEB_KMP_GIS_TAS
https://data.seoul.go.kr/dataList/570/S/2/datasetView.do
https://data.seoul.go.kr/dataList/322/S/2/datasetView.do
https://www.google.com/maps/d/u/0/viewer?mid=1dp1gE0XPSaXdX1cJXXxgnR2KdoRJtUUQ&II=37.57822414467999%2C126.9675696616819&z=13
http://nodelink.its.go.kr/Nodelink.aspx
https://www.osgeo.kr/17
https://github.com/GodMoonGoodman/NaverMap-Car-minimum-distance
https://stackoverrun.com/ko/q/11234571
https://www.fun-coding.org/Chapter20-shortest-live.html

